Solving quadratic equations

100 — 1212 =0

What are the solutions to the equation above?

(2z-3)(z+4)=0

Letz = a and = b be the solutions to the equation above. What is the value of —a — b?

]

0=_2y—-1)(8-1y)

Lety = w and y¥ = d be the solutions to the equation above. What is the value of u - d?




Solving quadratic equations

(22 +5)(—mz+9) =0

3
In the equation above, m is a constant. If the equation has the solutions & = —5 andz = 3

what is the value of m?

]
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How many distinct real solutions does the equation above have?
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